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Odlicel Es2 0t2et2d ZE S A
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Oatdel =2 s28 ZEZA
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OatMpe BE2 A5 EX2AH
500,000& = 40m 20,000
O2=1el etaE =2 A X2 A
130,000 = 180m 23,400
O2=22 X2 s T 2 g2 83X 2
A 18,400,000 = {14! 18,400
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Ogbte3 100,000& * 12& 1,200
O EAFLHI 50,000& * 12& 600
OLAAR2 =44 6,600
— Z2A| %2l 500,000& * 1CH 500
— T2l %2 100,000& = 408 = 50/100 200
— 2A EY 200,000& = 53] = 104 1,000
— T2 EU(S8) 200,0008 * 53] = 404 4,000
—PC =2l 100,000 * 1500 = 20/100 300
— J|EF #=2lH] 50,000& * 12& 600
OJIEF AFR 22| 5,000& * 159 x 12& 900
Og - =8yl 13,250
— X 50,000 * 1 = 115 5,750
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02 3524t 11,804 9,028 2,776
OoRHERZ 200,000& = 12& 2,400
ORdEYE AISE 9,000& = 128 108
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